CN1[C@H] (Cc2ccccc?) [CEH] (O) [CRRH] (O) [CRRH] (Cc3cceecc3)N(C)C1l=0 5.24

CCN1[C@H] (Cc2ccccce2) [C@H] (O) [CREH] (O) [CREH] (Cc3cececee3)N(CC)C1=0 7.00
CCCN1[C@H] (Cc2ccccc2) [CQRH] (O) [CEA@H] (O) [CRWEH] (Cc3cececeec3)N(Ccc)c1=0 8.10

CCCCN1 [CQH] (Cc2ccccc?) [CQRH] (O) [CQRH] (O) [CAQRH] (Cc3ccecec3)N(CCCC)Cc1l=0 8.85
CCCCCN1 [C@H] (Cc2cccecce2) [C@H] (O) [CREH] (O) [CRRH] (Cc3ccecec3)N(CCCcC)Cc1=0 8.80
CCCCCCN1 [C@H] (Cc2cccec2) [CRHT (O) [CEA@H] (O) [CREH] (Cc3cececeec3)N(Ccceee)c1=0 8.34
CCCCCCCN1 [CRH] (Cc2cceccc?) [CRH] (O) [CQRH] (O) [CARH] (Cc3ccecec3) N (CCCCCee)Cl=0 6.59
COCCN1 [CRH] (Cc2cccec?) [CRH] (O) [CRRH] (O) [CRRH] (Cc3ccececec3)N(CCOC)Cl=0 6.10
CCOCCN1 [CW@H] (Cc2ccccecec?) [CEH] (O) [CREH] (O) [CRERH] (Cc3ccececec3)N(CCOCC)C1l=0 5.96
COCCOCCN1 [CRH] (Cc2ccccc?) [CRH] (O) [CQRH] (O) [CARH] (Cc3ccecec3)N(CCoCccoc)C1=0 5.11
CC(C)CN1[C@H] (Cc2cccec?2) [CRHT (O) [C@@H] (O) [CRE@H] (Cc3cececeec3)N(Cc(c)ycyc1=0 7.31
C(C)CCN1[C@H] (Cc2cccec2) [CQRH] (O) [CEA@H] (O) [CRE@H] (Cc3ccecee3)N(Ccc(c)c)c1i=0 7.92
C(C)CCCN1[CRQH] (Cc2cccecc?2) [C@H] (O) [CQRH] (O) [CARH] (Cc3ccecec3)N(CCcec(c)c)ycl=0 8.15
C(C)CCCCN1 [C@H] (Cc2cccecc?) [CEH] (O) [CREH] (O) [CRE@H] (Cc3ccecec3)N(CCeecec(cyce)ci=0

7.52
CC (C)CCCCCN1[C@H] (Cc2cccec?) [C@H] (O) [CRRH] (O) [CREH] (Cc3ccccece3) N (CCceee(c)e)c1=0
6.96

CC(C) (C)CCN1[CRH] (Cc2ccccc?2) [CRH] (O) [CQRH] (O) [CARH] (Cc3ccecec3)N(CCC(C) (C)yc)cl=0
7.44
O[C@E@H]1[C@QH
CC (=C)CN1[CRH

] [CRQ@H] (Cc2ccececc2)N(CC=C)C(=0)N(CC=C) [CRRH]1Cc3cccce3 8.28

]
O[C@Q@H]1[CRRH]

]

]

2ccccce?) [C@H] (O) [CREH] (O) [CRRH] (Cc3cceceec3)N(CC(C)=C)C1l=0 8.14

(0)
(Cc
(O) [CR@H] (Cc2cccecc2)N(CC3CCI3)C(=0)N (CC4CC4) [CRRH]1Ccbcececeeh 8.68
(0)
(0)

O[CE@@H]1[CQEH [CA@H] (Cc2cccecc2)N(CC3CCC3)C(=0)N(CC4CCC4) [CARH] 1Cc5cceecS 8.89
O[CE@@H]1[CQEH [CA@H] (Cc2cccecc2)N(CC3CCCC3)C(=0)N(Cc4ccecd) [Ce@H]1Ccheccececeh
8.37

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecc?2)N(CC3CCCCC3)C(=0)N(CCACCCCC4) [CRRH]1CcS5ccceceh

7.43

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cececece3)C(=0)N(Ccdcccecd) [CA@H] 1Cc5ccecececeh

8.52

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecc2)N(Cc3cecenc3)C(=0)N(Ccdccencd) [CRRH]1Cc5¢cccecech

8.01

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecc2)N(Cc3cecnece3)C(=0)N(Ccdceneccd) [CRRH]1Cc5cccecech

7.05

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2) N (Cc3cceccdcceceecc34)C(=0)N(CcSceeccecoececeeh6) [CRWEH
]1Cc7ccccec?7 7.07

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecec2)N (Cec3cccdcececccdc3)C(=0)N(Cchecececbeececececbhbe5) [CRRH
]1Cc7cccecec?7 9.51

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cecec(F)c3)C(=0)N(Ccdccecc (F)cd) [C@RE@H]1Cc5c
ccceb 8.52

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccc2)N (Cec3ccc (F)ece3)C(=0)N(Ccdccc (F)ccd) [CRRH]1CcS5e
cccehb 8.85

O[C@@H]1[CRERH] (O) [CQRH] (Cc2cccecc2)N (Cc3cececc(Cl)c3)C(=0)N(Ccdccecc(Cl)cd) [CRRH]1Ce
5ccececS 9.05

O[CQRH]1[CRQRH] (O) [CRRH] (Cc2ccccc2)N(Cc3cec (Cl)ce3)C(=0)N(Ccdcece(Cl)ccd) [CRRH] 1Ce
S5ccecec5 8.28

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecec2)N (Cec3ccee (Br)c3)C(=0)N (Ccdccece (Br)cd) [CRRH]1Cc
5ccecec5 8.85

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3ccec (Br)cc3)C(=0)N(Cclccc (Br)ccd) [CRRH]1Cc
5ccceceb 7.57

Cclcccc (CN2 [C@H] (Cc3ccecec3) [CRH] (O) [C@Q@H] (O) [C@E@H] (Ccdccececcd)N (Cebeeec (C)eb)C2=0
ycl 8.15

Cclccc (CN2 [C@H] (Cc3cececee3) [CAH] (O) [CREH] (O) [CRRH] (Ccdccececcd)N(CeSeee (C)eeb) C2=0)
ccl 8.24

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3ccecc(c3)C(F) (F)F)C(=0)N(Ccdcccc(c4)C(F) (F
yF) [CRRH]1Ccbcceceeb 7.66

O[C@@H]1[CRRH] (O) [CQRH] (Cc2ccccc2)N (Cc3cecec(cc3)C(F) (F)F)C(=0)N(Ccdccc(ccd)C(F) (F
yF) [CRRH]1Ccbcceceeb 7.29



COclcccc (CN2[CW@H] (Cc3cceece3) [C@H] (O) [CRRH] (O) [CREH] (Ccd4ccceccd)N (CcSeeec (0C)ch)C2
=0)cl 8.80

COclccc (CN2 [C@H] (Cc3cccec3) [CQAH] (O) [CA@H] (O) [CEW@H] (Ccdccceccd)N (Cchbeec (0OC) ceh) 2=
O)ccl 6.80

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecc?2)N(Cc3cecee (¢3) [N] ([0-

]1)=0)C (=0)N (Ccdcccc(cd) [N] ([0-1)=0) [CREH]1Cc5cccece5 8.55

OCclccc (CN2 [C@H] (Cc3ccecec3) [CRH] (O) [CAQ@H] (O) [CE@H] (Ccdccecceccd)N (Cebeec (CO)ech) 2=
O)ccl 9.47

OCclcccc (CN2 [CRH] (Cc3ccecec3) [CRH] (O) [CARH] (O) [CAQH] (Ccd4ccceccd) N (Cchbeecec (CO)ch)C2
=0)cl 9.85

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecec2)N (Cec3ccec (0)ce3)C(=0)N(Ccdcecc (0O)ccd) [CRRH]1CcSe
ccecehb 9.92

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cececc(0)c3)C(=0)N(Ccdccecc(0)cd) [C@RE@H]1Cc5c
cccehb 9.92

Nclcccce (CN2 [CQRH] (Cc3cceecc3) [CRH] (O) [CARH] (O) [C@QH] (Ccdccceccd)N (Cebeeec (N)eh)C2=0
ycl 9.55

CCCN1[C@H] (Cc2cccec?) [CRH] (O) [CAQ@H] (O) [C@@H] (Cc3ccecec3)N(Ccdcecbececeched)C1=0
8.96

CCCCN1 [CQ@H] (Cc2ccccec?) [CE@H] (O) [CQRH] (O) [C@ARH] (Cc3ccecec3)N (Ccdcecbecececeebed)C1l=0
9.22

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccec2)N (Cec3cccdcecececcdc3)C(=0)N(CC=C) [CRRH]1Cc5ccceceh
8.85

O[CRRH]1[CRRH] (O) [CQRRH] (Cc2cccecc?2)N (Cc3cccdcecececcdce3)C(=0)N(CC5CC5) [CREH] 1Ccbeece
co 8.82

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccc?2)N(Cc3cccdcecececdc3)C(=0)N(CC5CCCCH) [C@@H]1Ccbee
cccb 9.55

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccec2)N (Cec3cccdcecececcdc3)C(=0)N(Ccbeececeeh) [CRRH]1Cc6he
cccco 8.64

O[C@@H]1[CQ@RH] (O) [CARH] (Cc2ccccc2)N (Cc3cccdcceccc4d4c3)C(=0)N(CcSceencd) [C@@H] 1Ccbe
cccco 8.28

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccc2)N (Cec3cccdcecececcdc3)C(=0)N(Ccbeceneeb) [CRRH]1Cc6e
ccccoh 8.16

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cccdccecccdc3)C(=0)N(CchSecec (F)ced) [CREH]1C
cocccecco 8.44

OCclccc (CN2 [C@H] (Cc3cccec3) [CRH] (O) [C@Q@H] (O) [C@E@H] (Ccdcccceccd)N (Cebeecbeceeeohed)C
2=0)ccl 9.03

Nclcccce (CN2 [CQRH] (Cc3ccecc3) [CRH] (O) [CQRH] (O) [CARH] (Ccdccececcd)N (Cchbececbeeceeceoeh)C
2=0)cl 9.00

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cccdcceccc4dc3)C(=0)N(CcbScecec (0)ch) [CrR@EH]1C
cocccecco 9.48

NC (=0) clccece (CN2 [CQRH] (Cc3cceece3) [CRH] (O) [CRR@H] (O) [CRRH] (Ccdcccececcd)N(Cebeeece (¢cb)C
(N)=0)C2=0)cl 10.41

CNC (=0) clcccc (CN2 [C@H] (Cc3cccec3) [CQAH] (0O) [C@E@H] (O) [CRWEH] (Ccd4cccccd4)N(Cchbeeece (cbh)
C(=0)NC)C2=0)cl 10.18

CCNC (=0) clcccc (CN2 [CRH] (Cc3cceecc3) [CRH] (O) [CARH] (O) [CAQH] (Ccdcccecd)N (Cebeecece (cd
)C(=0)NCC)C2=0)cl 9.68

CC (C)NC (=0) clcccc (CN2 [C@H] (Cc3cceece3) [CRH] (O) [C@E@H] (O) [CEA@H] (Ccdccececcd)N(Ccbhbececee
(c5)C(=0)NC(C)C)C2=0)cl 9.24

CCCNC (=0) clcccc (CN2 [C@H] (Cc3cccece3) [CEH] (O) [CRE@H] (O) [CQRH] (Ccd4cccceccd) N (Ccbeecec (e
5)C(=0)NCCC)C2=0)cl 9.44

CCCCNC (=0) clccecc (CN2 [C@H] (Cc3ccecee3) [C@AH] (O) [CREH] (O) [CREH] (Ccdcccecd)N (CeSeeec (
c5)C (=0)NCCCC)C2=0)cl 9.37

CC(C) (C)NC (=0)clcccc (CN2[CQH] (Cc3cceec3) [CRH] (O) [CAQ@H] (O) [CEA@H] (Ccd4ccceccd)N (Ccbhe
ccc(cH5)C(=0)NC(C) (C)C)C2=0)cl 8.62

O[C@@H]1[CQERH] (O) [CARH] (Cc2cccecc2)N (Cc3ccee (c3)C (=0)NCC4ACC4)C (=0)N (Cchbececee (ch)C(
=0) NCC6CCo6) [CQRH]1Cc7cccece7 9.13

0
0



O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccc?2)N (Cc3cececce (¢3)C(=0)Necdcecececed)C (=0)N(Ccheceee (ch)

C (=0)Ncoécccece6) [CRE@H]1Cc7cecececTT 9.37

O[CRRH]1[CRRH] (O) [CRERH] (Cc2ccccc?2)N (Cc3cecee (¢3)C(=0)Ncdcencecd)C (=0)N(Ccheceee(ch)

C (=0)Ncoeccnccb6) [CRE@H]1Cc7cccec7T 9.39

O[CRRH]1[CRRH] (O) [CRRH] (Cc2ccccc?2)N (Cc3cececce (¢3)C(=0)Necdceencd)C (=0)N(Ccheceee (cbh)

C (=0)Nco6ccecnc6) [CRE@H]1Cc7cececec7 9.54

O[C@@H]1[CQERH] (O) [CQRH] (Cc2cccecc2)N (Cc3cecee(c3)C(=0)Ncdcececend)C(=0)N(Cchbeceee (ch)

C (=0)Ncocccenb6) [CREH]1Cc7cccecec7 10.37

Cclccnc (NC (=0) c2cccc (CN3[CQH] (Ccd4ccceccd) [CRH] (O) [CAQH] (O) [CA@H] (Cchccecech) N (Cebe

ccc(c6)C(=0)Nc7cc (C)cecn7)C3=0)c2)cl 10.57

Cclccc(NC( 0) c2cccc (CN3[CRH] (Ccd4cceccd) [CRH] (O) [CARH] (O) [C@QH] (Ccbeccecech)N (Cebece
c(c6)C(=0)Nc7ccc(C)cn7)C3=0)c2)ncl 10.96

Cclcccc(NC( 0O) c2cccc (CN3[CRH] (Cc4d4cccccd) [CRH] (O) [CARH] (O) [CA@H] (Cchccececeh) N (Cebe

ccc(c6)C(=0)Nc7cccc(C)n7)C3=0)c2)nl 10.70

Cclcc (C)nc (NC (=0) c2cccc (CN3[CRH] (Ccdccececd) [CRH] (O) [CRRH] (O) [CRRH] (Ccbhececeeeb)N(C

coceceec (c6)C(=0)Nc7cc(C)cc(C)n7)C3=0)c2)cl 10.80

Cclcenc (NC (=0) c2cccc (CN3[CQH] (Ccdccececd) [CRH] (O) [CAQRH] (O) [C@QH] (Ccbeccecech)N (Ceoe

ccc(c6)C(=0)Nc7nccc(C)n7)C3=0)c2)nl 9.94

O[C@@H]1[CQRH] (O) [CARH] (Cc2ccccc2)N (Cc3cececc(c3)C(=0)Ncdccec(cnd)C(F) (F)F)C(=0)N(C
cS5ccece (¢5)C (=0)Ncoccec (cn6)C(F) (F)F) [CREH]1Cc7ccecec7 10.07
O[CRRH]1[CRRH] (O) [CRERH] (Cc2ccccc2)N (Cc3cececce (¢3)C(=0)Necdcnecend)C (=0)N(Ccheceee (cbh)
0O)Ncé6cncecn6) [CR@H]1Cc7cccec7 10.74

C(=
O[C@@H]1[C@RH] (O) [CARH] (Cc2ccccc2)N (Cc3cececc(c3)C(=0)Ncdncecend)C(=0)N(Cchbcecece (ch)
C (=0)Ncoéncccnb6) [CREH]1Cc7cccec7 9.82
O[C@@H]1[CRERH] (O) [CQRH] (Cc2cccecc2)N (Cc3cceec(c3)C(=0)Ncdnccec[nH]4)C(=0)N (CcScecec(c
5)C(=0)Ncéncc[nH]6) [CARH]1Cc7ccecece7 10.85
O[C@@H]1[CRERH] (O) [CQRH] (Cc2cccecc2)N (Cc3cecee (c3)C(=0)NcdncSecececee5[nH]4)C(=0)N (Cco
cccc (c6b)C(=0)Nc7nc8ccccc8[nH]7) [CARH]1Cc9cccecc9 10.62

COclcc (CN2 [C@H] (Cc3ccecec3) [CQAH] (O) [CREH] (O) [CEQH] (Ccd4ccceccd)N(Cecbeeee (¢h)C (=0)Ne
6cncecn6) C2=0)cc (0C)cl 8.60

COclcc (CN2[C@H] (Cc3ccecee3) [CAH] (O) [CREH] (O) [CREH] (Ccdcccecccd)N(CcSeeec (¢5)C(=0)Ne
6ccc (C)cnob)C2=0)cc (0OC)cl 8.72

COclcc (CN2 [C@H] (Cc3ccecec3) [CQAH] (O) [CREH] (O) [CEQH] (Ccdcccecd)N(Cecbeeee (¢h)C (=0)Ne
6cccc(C)n6)C2=0)cc(OC)cl 9.15

COclcc (CN2[C@H] (Cc3cccee3) [CAH] (O) [CREH] (O) [CREH] (Ccdcccececcd)N(CcSeeec (¢5)C(=0)Ne
6cccecn6)C2=0)cc(0C)cl 9.07

COclcccc (CN2[CW@H] (Cc3cceece3) [C@H] (O) [CRRH] (O) [CREH] (Ccd4cccccd)N (CcSeeec (¢5) C(=0)
Ncoé6cnccn6)C2=0)cl 10.42

COclcccc (CN2 [CQH] (Cc3cccec3) [CQRH] (O) [CREH] (O) [C@RH] (Ccdcccecd)N(Cebeeee (¢bh) C (=0)
Ncé6cecec (C)cnb)C2=0)cl 10.16

COclcccc (CN2[CW@H] (Cc3cceece3) [C@H] (O) [CRRH] (O) [CREH] (Ccd4cccccd)N (CcSeceec (¢5) C(=0)
Ncé6ccecc (C)nob)C2=0)cl 10.28

COclcccc (CN2 [CQH] (Cc3ceccec3) [CQRH] (O) [CREH] (O) [C@RH] (Ccdccceccd)N(Cebeeee (¢h) C (=0)
Ncocccen6)C2=0)cl 10.33

Cclccc (NC(=0)c2cccc (CN3[C@H] (Ccdccececd) [CQ@H] (O) [CREH] (O) [CREH] (Ccbececeeb)N(Cebec
cc(N)co6)C3=0)c2)ncl 10.12

O[CRRH]1[CRRH] (O) [CRRH] (Cc2cccecc2)N(Cc3ccee (¢3) [N] ([0-

1)=0)C(=0)N (Ccdcccc(c4d4)C(=0)Ncbcccenb) [CREH]1Ccbecececeh 10.02

CC(C) (C)NC (=0)clcccc (CN2[CRQH] (Cc3cceec3) [CRH] (O) [CAQ@H] (O) [CEA@H] (Ccdccceccd)N (Ccbhe
ccc (N)c5)C2=0)cl 9.39

Nclcccce (CN2 [CQRH] (Cc3cceecc3) [CRH] (O) [CARH] (O) [C@QH] (Ccdccceccd)N (Cebeecee (ch)C(=0)N
cbocnecen6)C2=0)cl 10.80

Nclcccc (CN2 [CQRH] (Cc3cceccec3) [CRH] (O) [CAQRH] (O) [CA@H] (Ccd4ccceccd)N (Cecbeeceec (ch)C(=0)N
conc7cccecc7[nH]6)C2=0)cl 10.64

Nclcccce (CN2 [CQRH] (Cc3cceecc3) [CRH] (O) [CARH] (O) [C@QH] (Ccdccececcd)N (Cebeecee (ch)C(=0)N
concec [nH]6)C2=0)cl 10.92



